ANGIOSPERM REPRODUCTION- Chapter 38
“See Flower parts on handout for Chapter 30”
IN POLLEN SACS (MICROSPORANGIA) of ANTHER
     diploid cells undergo MEIOSIS to make haploid MICROSPORES 
  Microspores develop into MALE GAMETOPHYTE = POLLEN GRAIN w/2 haploid nuclei
     TUBE NUCLEUS makes POLLEN TUBE-delivers sperm to female gametophyte
    GENERATIVE NUCLEUS divides to make 2 sperm cells
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IN OVARY
   OVULES form with diploid cell that undergoes MEIOSIS to make 4 haploid MEGASPORES
   ONLY ONE megaspore survives; divides by mitosis to make FEMALE GAMETOPHYTE 
   Female gametophyte (=EMBRYO SAC) is inside ovule; reduced to seven cells with 8 nuclei
   DOUBLE FERTILIZATION
          
       ONE nucleus = EGG; 
           
           will join with sperm nucleus to form zygote
              
       TWO POLAR NUCLEI join with 2nd sperm nuclei 
                to make 3n ENDOSPERM = food in seed for embryo 


                             POLLINATION
                                 = transfer of pollen from ANTHER to STIGMA
                                          Pollen produces tube which grows down into ovary
        OVULE develops into SEED; OVARY develops into FRUIT
                             FRUIT- protects enclosed seeds; aids in dispersal
                                          Seeds are DORMANT until environmental conditions are right for germination
                             
                                         SEED DISPERSAL- carried by WIND, WATER, ANIMAL VECTORS
                                                           seeds germinate (with proper conditions) into new sporophyte
SEED PARTS
SEED COAT- formed from ovule; protect embryo inside
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RADICLE= embryonic root
COTYLEDONS = seed leaves of embryo 
     (MONOCOTS-one; DICOTS-two)

EPICOTYL= shoot tip with miniature leaves attached

MECHANISMS TO PREVENT SELF FERTILIZATION
1) PHYSICAL BARRIERS
     MONOECIOUS FLOWERS (have BOTH male & female parts)
        floral organs mature at DIFFERENT TIMES
        floral organs are positioned @  DIFFERENT HEIGHTS 
      DIOECIOUS FLOWERS have EITHER male OR female flower parts (not both)
        (Can’t fertilize self because sperm/egg are produced on different plants) 
2) MOLECULAR BARRIERS
    SELF INCOMPATIBILITY- biochemical block prevents pollen from same plant from developing 
      pollen tube and fertilizing own egg
SELF FERTILIZATION�ADVANTAGE-ensures seed will develop�DISADVANTAGE�  - no variation w/o sexual reproduction�








